i@l Component data sheet
VIVA-I-EC TCT Stair Support

WE. PRODUCE. SAFETY-. Code: 5061001

%
B 97k

8} hot-dip galvanized steel

a EN 12811-1

Support Holder with R-Clip

\ Bolt DIN 603 M10x60

Washer M10 DIN 125A Bolt DIN 931
M10x60
Step plate
~1,3m-2,2m

Nut M10 DIN 985

Step plate Nut M10 DIN 985

Stair Frame Tube Washer M10 DIN 125A

Support Tube
Distance 30x12

Bolt DIN 931 M10x95 (100)

Tools:

-\! 1 pcs / Euro Pallets

1 120 x 85 x 20 mm

t

01.2019

viva-tec.com




